
Vypočítej příklady. Vybarvi obrázek podle výsledků. 
 

zelená červená žlutá oranžová modrá hnědá 
 

35 + 5 = 46 + 40 =  30 + 20 = 8 + 7 = 12 + 12 = 42 + 6 = 

71 + 9 = 25 + 20 = 10 + 80 = 9 + 9 = 14 + 14 = 5 + 64 = 

22 + 8 = 10 + 27 = 50 + 30 = 4 + 9 = 13 + 13 = 51 + 3 = 

60 – 4 = 92 – 20 = 100 – 90 = 15 – 6 = 22 – 11 = 79 – 4 = 

90 – 2 = 81 – 30 = 90 – 30 = 14 – 8 = 48 - 12 = 89 – 6 = 

70 – 3 = 94 – 80 = 100 – 30 = 12 – 7 = 66 – 44 = 38 – 6 = 

 

 

šedá růžová černá 
 

19 + 6 = 1 20 – 4 = 

38 + 4 = 2 8 + 10 = 

33 – 6 = 3 20 – 8 = 

22 – 5 = 4 10 + 3 = 

 

 

 



 


